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HEABM I EERS | LTE 7 » mi(pFN)

FL 5| E N 3 3P (EE R o {7 PR AR AL Sl

: - = = - iy = - = = - = =
| g% 24,423| 24,423 24,423 24,423 24,423 24,423| 24,423 24, 423| 24, 423| 24, 423| 24, 423| 24, 423
2 Fe 3,250| 3,250[ 3,250 2,440| 2,440 2,440{ 3,250 3,250{ 3,250[ 3,250[ 3,250{ 3,250
3 FVy 1,520 1,520] 1,520 1,145 1,145 1,145 1,520] 1,520] 1,520] 1,520] 1,520[ 1,520
4 LR 50 50 50 50 50 50 50 50 50 50 50 50
3) &7 100 100 100 100 100 100 100 100 100 100 100 100
6 ALY 110 110 110 110 110 100 110 110 110 110 110 110
T T%ix% 7 175 175 175 175 175 175 175 175 175 175 175 175
8| WEiA P 500 500 500 500
9 THT 6, 682 6,951 6,925 5,930 5,870[ 6,410{ 6,134 5,720{ 6,033 6,610 5,732 6,361
10 ~PER 1,900 1,900 1,900 1,900 1,900 1,900{ 1,900{ 1,900{ 1,900 1,900{ 1,900 1,900

&3t 38,7101 38,479 38,453 36,773 36,213 36, 753| 38, 162| 37, 248| 37, 561| 38, 638 37, 260| 37, 889
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HEABM I EERS | LTE 7 » mi(pFN)

5l L B AR TT B AP (LS 163T) BAF(Z = W 5D)

# B - - - = E = = - = =
1 g% 24,423 24,423 24,423 24,423 24,423 24,423| 24, 423| 24, 423| 24, 423| 24, 423
2 Fe 3,300 3,300 3,300 3,300[ 3,300 3,300] 3,300 2,475 2,475 2,475
3 TV 1,230 1,230 1,230 1,230 ,1230 1,230] 1,230 955 955 955
4 LR 50 50 50 50 50 50 50 50 50 50
) &7 100 100 100 100 100 100 100 100 100 100
6 ALY 110 110 110 110 110 110 110 110 110 110
7 X G P 175 175 175 175 175 175 175 175 175 175
8 Ew& ¥ 500 900 550 590 590 550 900 550 550
9 THT 6, 705| 4,838 6,094 6,786] 6,720 5,092 4,989 95,792 5,862 6,017
10 PED 1,900; 1,900 1,900; 1,900 1,900 1,900{ 1,900[ 1,900 1,900 1,900

. 38,043 36,126 38, 782| 38, 624| 38,558 36, 930 36, 827| 36, 880 36, 600 36, 755




REFRIIINFERFS IBH LA 2y P wi(p FIN)

5 SatEH TR g A A T (e HIT)

: - = = - iy = - = = - = =
| g% 39,949 35,949 35,949 24,423 24,423 24,423| 24,423 24, 423| 24, 423| 24, 423| 24, 423| 24, 423
2 Fe 3,360 3,360[ 3,360 3,300[ 3,300[ 3,300[ 3,365 3,365 3,365 2,525 2,525 2,525
3 FVy 2,970 2,970 2,970 1,230 1,230( 1,230{ 2,970 2,970{ 2,970 1,980[ 1,980 1,980
4 LR 50 50 50 50 50 50 50 50 50 50 50 50
3) &7 100 100 100 100 100 100 100 100 100 100 100 100
6 ALY 110 110 110 110 110 110 110 110 110 110 110 110
T X G P 175 175 175 175 175 175 175 175 175 175 175 175
3 Eh 7y 500 500 500 500
9 THT 6,063 6,910 7,571 6,863 6,288 6,995 5,608 5,418 6,113| 5,695 5,728 4,398
10 PER 1,900] 1,900 1,900 1,900 1,900 1,900{ 1,900{ 1,900{ 1,900 1,900{ 1,900 1,900

&3t b1, 677 b5l1,524] 52,185 38,651 37,576 38,283| 39,201 38, 511| 39, 206| 37, 458| 36, 991| 35, 661




EEFRINEERS I B LA dcd * i (p F)

i ke ] £ EHgsf RS (%31

# B - = = - = E - = = - =
1 g3 35,949) 35,949) 35,949 24,423 24,423 24,423| 24,423| 24,423| 24, 423| 24, 423
2 b 3,360 3,360 3,360 3,365 3,365 3,365 3,365 3,365 3,365 2,525
3| FV7R 2,970 2,970 2,970 2,970, 2,970/ 2,970| 1,780 1,780 | 1,780 1,185
4| 1 50 50 50 50 50 50 50 50 50 50
9) &7 100 100 100 100 100 100 100 110 100 100
6| #E&% 110 110 110 110 110 110 110 110 110[ 110
T| L% iE% % 175 175 175 175 175 175 175 175/ 175 175
8| EWRATF 500 500 500
9| F % 5,442] 5,890 5,450 5,922 5,635 5,588 5,982 5,865 6,121 5,860
10| ~7%% 1,900/ 1,900( 1,900  1,900[ 1,900] 1,900 1,900 1,900 1,900 1,900
&3 50,556| 50,504| 50,064] 39,515 37,754| 37, 754| 38,230 37,613| 37,869 36,828




HHABHIIFERS 1P EAEF Y p * ik (P )

5 TR TALF F W A i i IRE AR AT

: - = = - iy = - = = - = =
| g% 39,949 35,949 35,949 35,949 35,949 35, 949| 24, 423| 24, 423| 24, 423| 24, 423| 24, 423| 2, 4423
2 Fe 3,360 3,360[ 3,360 3,360[ 3,360[ 3,360[ 2,265 2,265 2,265 2,230 2,230{ 2,230
3 FVy 2,970 2,970 2,970 2,970 2,970 2,970 970 970 970, 1,170 1,170} 1,170
4 LR 50 50 50 50 50 50 50 50 50 50 50 50
3) &7 100 100 100 100 100 100 100 100 100 100 100 100
6 ALY 110 110 110 110 110 110 110 110 110 110 110 110
T T%ix% 7 175 175 175 175 175 175 175 175 175 175 175 175
8| WEiA P 500 500 900 590 550 500
9 THT 6,324 5,923 6,336 6,278 6,954 6,281 4,111] 4,180] 3,710 4,703 4,107 4,879
10 PER 1,900] 1,900 1,900 1,900 1,900 1,900{ 1,900{ 1,900{ 1,900 1,900{ 1,900 1,900

&3t 51,438| 50,537 50,950 51,392 51,168 50,895 34,594 34, 313| 33, 843| 34, 651| 33, 535| 34, 327







